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LGS~ (Aurg Siflay) (UL LL LigUi yib)
Part-B (General Studies) (Degree Std)

Aamésdr : 101-200 - errg,g, mﬁ]u@um&sm : 150
Questions : 101-200 " Total Marks : 150

101. The energy produced at a cheaper cost is

(A) Wind energy
Hydro electric energy
(C) Nuclear energy
(D) Solar energy
(E) Answer not known

GonhHs Geweild a_@mrra;a;uu®|.o SDDH ————— YGL.

(A)  smHm DD

B) pnder opmed

C) ogmésmbdod
D) efiuyppd
(E) oo Qpflwefcdenar

102. The vehicles are fitted with shock abserbers, which is based on

(A) Newton’s gravitational law
(B) Newton’s first law
(C). Newton’s third law

.@ﬂ Impulse

(E) Answer not known ;
GumiLmr auirsenmisafle ag_ﬁrreq SnaIlser Qurr@gg,uu@mg Epsaam_ Grggm_arr
Qam_iyerLwg)

A) Ay efer FrvQue olld

B) Ayl aferpsodelld

(C) Pyl efer apempreug 698

‘D) sanssrées

(E) Heor Qsflueldame

L - ' o 27 A CEGS/2022
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103. Malaria fevef is caused by which of the folldWing parasite

(&) Plasmodium Vivax

(B) P. Malariaev
(C) P. Falciparum

| m All of these

104.

(E) Answer not known
Sipsasarm_cuppieT ereney CaRAWT Grrenws 2 @I TEGLD @L@aﬁ&mﬂ |

(A) |_(1]61TI'I'Gh)V(gLDrI'lq.UJLb MU TEHE

(B) __Lil_ wCaflwimr

(C) 9. Juredumryid

(D) @mm DG GILD

(E) oferr Gsfueldes

The main ingredient of antacid which is used to relieve acidity of

stomach is : | |
@) Add M MBase
1(0)) Néutral solution. o (D) Strong acid
(E) ,Answer not known ‘ |
aldp Pl 2 Gm_r@d Sifws Sarewn SBENEED 2. LTS BE51 LLETUGD S
iyl Qurgpefler paflw @quun@dT_;— G, Lo

Q) efeon o (B) smyid
“(C) pOflee sorsd | | | (D)’aﬁrﬂ‘u_: Bl
(E) . aflenL Qg,rﬂwaﬂd)q)a) o | -
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105. The forest is essentlal for phys1cal and chmat1c needs

M Protected Forest
(B) National Forest
(©) - Village Forest
(D) Tree Lands

(E) Answer not known

Quengs wHMILD a;rrcu;ﬂmm Coameus@ns@ isHwmeudlwiinrer a;rr@a;m

(A)}_ UTgISTESLILLL ST()
(B) Casflw &r(H |

(©) . Agrw s

(D) wr ,r_ﬂsprﬂess'fr

(E) e Qsflwelérena

106. What is the per capita avallablhty of Water in India on 2011‘7

M 1545 cubic metres

(B) 1515 cubic metres
(C) 1673 cubic metres
D) "1860'cubic metres

(E) Answer not known

-2011- w@‘r_ﬁﬁumﬁlm g,szsﬂ BUMGEGS SeL5s 56’!6& S\ETQ GTETET?
| (A) 1545 sem Bt
(B) 1515 sen 8L
(©) 1673 sanBroi
(D) 1860 sar S
(E) &ler Qzfweiicrene
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107. Who compared Political parties to conduits that carry the process of
social thought between electorate and the government?

W7 Barker "~ (B) Sir Thomas More
(C) T.H. Green - (D) Herbert Spencer
(E) Answer not known .
SrFler s ESET, UTESTATISHEHEHEWD au&rrréje;gﬁgj)é;@m @eLCuwirer  Fops
Spsemereniul eT(HSg Qedaid Bir@pmi Guramenal erem UL 6uff wiri? :
(A) unrist (B) & gmoeiv Guom
(C) .o Hifter | E (D) Qamiuin cv@uara
(E) ofler. Qpfuciiiens |

108. The Foremost aspect of Fiscal Federalism is to realise

| Cost efficiency (B) Integrity
(C) Morality , (D) Administrative Efﬁc1ency

(E) Answer not known

‘B gl L & eramugen Ha (y)a;é;]u_lmrrm <3|LD&LD Grezrrug,j @g,anasr ‘r_r,ml_q,omma;@

Qa;rrsm@em@a_ugrr@m
(A) Assang Hpenr - (B) Gpieow
(C) srimfland | - (D) Preurss Hwes

(E) e Qsflweldame

109. “Chinese water bomb” plan (dam) constructed across this river will put
India at risk

(A) _Indus river | ' (B) Yangtse river
7 Brahmaputra river (D) Hwang-Ho river
(E) Answer not known ’ |

“Sar B Gaw@®” Sl (Siwew) QbpHuler Bg sULLILQSTD, QBSLTES

<SYLISS 2 RILTEGD |
A)  Abg pd . B) wriiled pdl
(C) GrowyusrT pd (D) av~eurs Ganr psl

(E) ofenr Qg,lﬂu.laﬁlei)emo
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"~ 110. Mahmud Gawan was executed on the charge of

(A)
(B)

Murder
Adultery

W Forged charge of Treason

(D)
(E)

Theft

Answer not known

LOGLOG] SEUTEN 6THS @mgjggjé;a;rra Qaréeiul Lt

A)
(B)
©
(D)
(E)

Ak ()

BLSens-eNLIGSTTLD

Curellwrer Css551Crms Gno&EsTL_(H
Aor®

el QgRweldena

111. During the time of which Mughal Emperor gave permission to the
British East India Company to established its 1¢t factory in Surat

(A) * Akbar

m Jahangir

©)

Shajahan

(D) Humayun

(E)

Answer not known

c%rma‘,]a)as Hp&fpHws sbGuel, saTg WS Qg,m‘.élmasmwmm @Ug,ﬁa) THS Q,og,a)rru_lu

GuprsmenLw igwSHuller Gufle Qg,m_rméﬂu_lgj?

@
. (B)
©
@)
(E)

é{&Llﬂ'

Qan k&
agrganTaT
@pooTET

efer Qsflwefldenaw
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112. Match List I with List IT and choose your answer from the codes given
below :

List I | - Last IT
, Traveller Rules of Vijayanagar
(a) Nicolo de Conti

1. Krishnadevaraya
(b) Domingo Paes 2. Devarayall |
(c) Ferno Nunz 3. Devaraya I
(d) Abdul Razzak 4. Achyuta Raya

@ 0 © (@

@ 3 1 4
B 1 4 2
© 3 2 1
2 1 4

(E) Answer not known

W A W N

QeauHD L cueeanTufed QsrRssLuc G @gﬂuﬁ@&:mm uuc&ru@,\gﬁ sfurer
el ulenar i Leuenant-1 2.1 o1 Lcuenenr-11-gg QUTmESS.

i Leuenenr 1 | - i Leuenanr 11 S
vwenflEeT : : aﬂ&uJ;_r,a;u < Hlwireriger
(@) P&CarCeor-iq.-sramrg. 1. ﬁ@a’q:éwr@g,mqrrufr |
(b) GCLmARGCsT Lwev 2. Ggeugmwir 11
- » (0 QuiGenT memev 3. Ggauyprwuil
T (d) suge rers 4. &S TTWIT

@& ® © @
A 3 1 4
B 1 4 2
©) 3 2 1
D) 2 1 4
(E) aﬁlcm;@g,rﬂu_laﬁ]é)mw

[ G JCI
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113. Name the only Indus site with an artificial brlck dockyard
W Lothal ‘
(B) Kalibangan
(C) Chanhudaro
(D) - Surkotoda
(E) Answer not known
Gewpens CemiseD SLILID SI@DIPSLD Qsrere. Gy ﬁp@&wﬁmmﬂ p_aa;ryg@ayr Quuwr
Q) Corssd
B) sdumise
. (C) sren@srGrr
D) siGasrGLmr
(E) ofen égtﬂu.:@fﬂebsmu

114. What is the procedure for removal of a Vice President when he acts as a
President?

(A) Removed by a resolution in Lok Sabha
(B) Need permission from Chief Justice of India
(C) Need permission from Attorney General
M - The method remains the same as for the President
(E) Answer not known
- glenewt @lq_u_m&g, SOOI, GUTsES searrs CewaulH Qa;rrm'nq_@a;@m Qun@g
Sleuenr ugailBésd Qeliub wen wrg? , ‘
A) Eypemeauie Siwreand uiIDDHe e apeLd
.(B) @pdu seamw fHuHuier sig@ind Hessear
(©) | @;r),é,]u_l sepaanLd aups@earehfler sigiod é\ng,g,ml_asr
D) GHWIIES SR uged f}a;a;m Qew ﬁrrmuﬁ]a;auul_l_ 21Gs e
(E) ofer Qsfluefdama v “
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115. The Guardian of Indian Constitution is

W The Sﬁpreme Court

(B)

©

(D)

(E)

The Constituent Assembly
The Parliament
The President

Answer not-known

@pdw Sirflwaeniori9er UTgisreuaTS dﬂmr&:&é;&nq.u.ng]

A)
(B)
©)
)

- (E)

2 55 Bl
cgnfaﬂu_lmmbuq Hremrwsanu

utrljrr@mskrgpr

GG WTHS ST

Qfﬂam_ Qs flweldwene

116. When was the Central Industrial Security Force established?

A)
(B)
- ©

1963
1949
1959

- 1969

(E)

Answer not known

wéSw Asrfipsrea LITHISTULL UL eriQurpgl ghu@ssuucLg?

A)

®
©)
(D)
(E)

CEGS/2022

1963

1949

1959
1969

eflenL_ Qs fwelerena
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'117. Under which circumstances the Indian Citizenship cannot be
terminated?

(A'). At the time of emergency
_ QM At the time of war
(O At the time of Elections
(D) All of these -
(E) Answer not known | ,
s GPHoold aors @bHu Gyl 55 iy Ling?
(A)  =eusy ‘rf,]aiw <106l 2 drer Gurg |
(B) Cuni BL b Qaramy maé@n Curg)
(C) Gsize per_GQumib Cuirg
D) GuCe 2 erer amasfggu.b
(B oL Osfudome

118. Who among the following said that the Preamble of the Indian
Constitution is “The Key Note of the Constitution”?

. m Ernest Barker
- (B) Jawaharlal Nehru
(C) Dr. B.R. Ambedkar
(D) Nelson Mandela
(E) Answer not known
&Q@@Dﬁ]l_tjul;Lm»ﬁa;@dT, @rdu  ewduemwddar  pai@iEy  Sren,
- @rdueewinder pé&Hw GO eremm sadluig wirr? : :
(A eriranevl LTS
(B) gaaniwre Cpo
(C) Dr. B.R. @ibGussi
(D) Qpesgar warGLem
(E) oSerL Qsfiseldama
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119. NABARD has been set up in

-l 1952

(B)
(©)
D)
(E)

(B)

€
- D)

(E)

1983
1984
1985

Answer not known

‘NABARD’ Gsripmieddaiug_ L =Y

1982
1983
1984
1985

‘eflen QgRwelldane

120. Who 1s the Chairman of Fifteenth Finance CommiSsion?

A)

Ramesh Chand

& NK Singh

(©)
1))

(E)

Y.V. Reddy
Ashok Lahiri

Answer not known

- udeanbsreugl HiF g meniusHern senaeurr

(A)
(B)

©)

D)
(B

CEGS/2022

7Guvy a5

'N.K. amy

Y.V. Qpiig
21Gars evadlfl -
eflenL Cgfwafldency |
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121. The imperative planning is also called

(&)
(B)

(D)
(E)

Indicative Planning
Normative Planning

Target Planning

- System Planning -

Answer not known

seilités Quers  Heow '@qcbcug,{ SLLMULDMELD

eqcmgpésa‘sﬁ:u;@)rrfo

A)
(B)
- (©
D

Ny

®

@Hé@w FL 18l
Apdlpen Sl
Qi AU LB d
Sievwliy Ll

eflenL QzfMlwedene

SlLfi@ged Qeueurmid

122. The Workin'g"of licencing policy in India under the committee of

- (A)

®

. Visweshwaraiah Committee

Narasimham Committee

Hazan Committee

M Dutt Committee

(B

Answer not known

@pHwurele gmyrerows Geratens Q&umurr@a;m THS @@aﬁlm &gg @u_lrmeﬂu.lgu?

(@A)

- ®
- (©
D)
(E)

aflenCGeusvyuiiwim G
prébiod &@
amartl @

e CICY
afen Glg,rﬂu_uaﬂd)ma)
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123. Jallianwala Bagh Massacre took place on

(A) 11t April 1918 -~ (B) 27t May 1918
N 130 April 1919 (D) 30t May 1920
(E) Answer not known ' ’
syredlwicor uT@TLITE u@@a;rrem%v BEDHS 606
(A) 11 gupe 1918 (B) 27Gw 1918
(C) 13quge 1919 (D) 30 Guw 1920
(E) ofer Qg,rﬂu_l@ﬂd)a)ai
124. Assertion (A) : The World Wide Depressmn wh1ch set in late 1929
affected India. .
Reason ®R): A very sharp fall in prices, particularly of agricultural

(A)1
(C)
D)
(E)

SO

commodities and by bringing about a major crisis in the
entire export-oriented colonial economy.

(A) is true (R) is false

Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) is false, (R) is true

Both (A) and (R) are true but (R) is not correct explanation of (A)
Answer not known

A) - 1929 @ar Gpude o (meurer o eaaTraiiL whgHlee
’ v‘v@‘r_'r;ej)ur‘rmmum urfssg).

ampenrd (R) : GOLurS efNeusmuty QU@L saller alomasaie ss sHaDLITE

A)
- (B

©)
(D)

- (B)

CEGS/2022

aipssl wHmL @UECLTEE gHpwd sriEs  sTelEgeL
Qun@mrrggmrgﬁsb Qumb ABmEsy mws QasTaTh eubsI.

(A) s, epammed R) gmgm ' ,

(A) wpgd (R) @du Qreaw@in &l LD[_DQlLD R) eramug (A)- Qfﬂgp@ mﬂu_masr

eflen&sLonELd

- (A) saum, e (R) &

(A) wHmd [®) é;béﬂu_l @ran@ &f e (R) eranug (A)-edm@ sflwrer
eJleT&sL06060 .

aflenL_ Qg,lﬂu_laﬁlebem_a)
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125. ‘Sefvants of India Society’ was founded by
" (A) Mahathma Gandhi |
.m Gopala Krishna Gokhale
(C) Subash Chandra Bose
(D) Dadabhai Naoroji
(E) Answer not known
‘@‘mﬁu Qg,rrs&ar;fr &rﬁmgén‘@s,’ Qg,m_réwﬂu_xmr'rv
(A) Loé; frg,Lolr &
(B) Gsrure &meger CaraGa
(C) suray sy Cumav |
(D) §ﬁg,nu mi GperCrrgl)
(BE) . e Qgflueloeme

126. What is Damin-i-koh in Rajmahal area?
(A) Place of the Kol tribes |
B Plaée of the Munda tribes
A Place of the Santhal tribes

(D) 1It’s a place in_Mala‘par

- (BE)  Answer not known
rregwanrd LGS ‘Qrmbler-@-Car’ erammmed eréman?
(A) Gare Qargsilen @b

- (B) weanGLr Qeargshar @Lib
(C) spsre @mgg,lﬂéi QL
D) waumfdr R0 UGS
(E) el Qsfueddme

el | | 39 | I CEGS/2022
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127. The first Chief Minister of Madras Presidency from Justice Party was
(A) Raja of Bobbili
(B) Raja of Panagal
(C) Rajan
m Subbarayalu
(E) Answer not known _
Qeerenan worgmentdgle ‘rf;bté,]é;asLé]uS]aSl@jggj (y)g,sb DAMWDESTTE B(BbSeuT
A)  Qur9e o | |
B) uesd SrsT
(C) ymggen
D) sLurpmwgy
(E) ‘G)SITGIDL_ Qsflueidame

- 128. Find the odd one from the following options

(A) Kattabomman Kummipédal‘
(B) Khan Sahebu Sundai

(C) Kattabomman Kothu
d Nandanar Charithra Keerthanaigal

(E) Answer not known | |
&L.'pé.l@mm@.@g]m LDﬁ’Q]LHTI_ITGb"r @Gbrmgp sy
(A) &L QuimbLieT GWA Lr_é |

(B)  snen srdl) serenL

(C) &L Qumbwer ahg,g,j “

(D) pisai sAsHy Eissmenser

(E) oten Qg,rﬂu_laﬁlei)ma)
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- 129. ‘What does this simile mean
Agalvarai thangum Nilam pol ......

(As earth bears up the men .........)

' \m Forbearance

(B) Decorous conduct
(C) Friendship
- (D) Knowledge

(E) Answer not known

‘SispeUTTS STHIGLD Ao Gura’ — @mmmmw 2_GRTTSGILD @ LIm(meT
| (A) Qurrmmuml_d)w
- (B) PPSHPENLEDLD
() plyerLew

(D) agﬂmmL_sme |

| (E) eflerr Qgpfweldama
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130. Identify the author of “Oru Vandi centrlyu — Which is the flrst and
foremost centriyu collection in Tam11‘7.

. \A Erode Tamllanban
- (B) Abdul Rahman
(C) Arivumathi
(D) Meera
(E) AnsWer not known
slflen wge Cgerflyy, Qg,rr@uurrarr P UG, Qaerrflyy,’ GTGM@]LD mredlen < Afwir
wim? :
(A) =Grr® slperLia
| (B) LG V@u)rrdrr
(O ableyod
(D) &Syr
(E) oo Qsflwelarena

131. It is called as ‘Tray of the East’

(A) Vellore Fort - '
_-QB” The fort at Chenji |

(C) Fort of Tarangampadi
(D) Sivaganga Fort
(E) Answer not known .
“Bupsfler qrmit” erem a{a‘s)gpésesuu(aeug.j
(A) Cagri Gam L
B Q&@eﬂé; Gami_enL
(C) srisbumg Car_eL .
D) Seusiiens Csren_

(E)  efen QsRweldrena
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132. To help means to serve the needy'
To protect means to live with loved ones
Idéntify the next line
(A) To love means not to live within ones’s clan
m To have personality means to have decorum
(Cj To have knowledge means to ignore inexperienced
| (D) To have self righteousness means to keep up promises
(E) Answer not known ,
LODSD TG RETY SIDHHOTES 2 FUSD
- Curpmise eTemTLg) LyeamTiBSTenyL Afwmreo -
- 2AB55 ouflser |
A) s@Quaniu@eug sadleoer Qspreiomw
(B) uaTQuaniLPeg UTLPHE RWESD |
(€) wPQueaniu@eg Cuamswui Asrd Crrama
D) QeNQeuaiu@eug smdlwg) LPTiELO
(E) elenr QsAwelorena

133. Wthh of the followmg books belongs to the Padhmen Melkanakku"’
(A) Thirukural | |
\M Thirumurugatru padéi :
(C) Thirupavai
(D) Thiruthondar Puranam
(E) Answer not known
ﬂm«m@m B seflcd uﬁ@me‘m (8LD[D&5666‘I’85@ auansmwE Gohog 6TH!?

A)  Swseper

B) SoywmsmopL LeL
©) Amuureme

D) SwmsQgram_i u‘lrrr-mfrtb
(E) eleL QsAweldema

o ' 43 - CEGS/2022
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134. In Sangam Spciety, the custom of sati was mentioned by
. -Tolkappiyam (B) Ettutogai |
(C) Pathu Pattu | (D) Padmenkﬂkkanakku
(E) Answer not known N .
s STSS 6 &@grru.:g,éleu ;5161)@51 aubs 2L aslmL gmb @Jx‘pawsg,smg, a@g,gjas

Smielg) ,
(A) Qsreosru@un . ' (B) aL@Q,Qg,nm&

(€) usmLLT. @ R D) vHQanam EpsasE
(E) aﬂm;@g,rﬂu_jaﬁlebmw o

135. In 2019-2020, Tamilnadu budget TANGEDCO will be establish the
floating solar power projects in the following districts

() Theni

(i) The Nilgiris

(iii) Erode

~ (iv) Salem

Select the correct answers by using codes

(A) (@) and (1) o B) @), (i1) and ‘(‘iii)
©) @, ) and av) ' M (i), (iii) and (iv)
(E) Answer not known

2019-2020-g41b BB  SOIPHTLIqeT ul_quq.a) TANGEDCO l_cﬂeurm@w
v LDfI'QJl_L_I'B.IJSG'ﬂG) uﬂga;@m @rﬂu_f e H1L_ o @Qjmm

(1) Csefl |

(i) podi

(111) FGyr®

(1v) Gsed

sRlwrer ellenL_anwl @g_fﬂuﬁ@a;merru ummu@g,(éf,] Qsfley Gews.

(A (@) wpmod (11) o B) @), (1) wpgid (i)
© @), @) opgd (v) D) (), (i) wppd Gv)
(E) eoflen Ggrﬂu_lafﬂwa»o.) ' '

. CEGS/2022 3 44 - | i ol



| 136 Match the List I with List. II and select the correct answer from the

codes given below
- Listl - . : List II
(a) Poverty Redﬁction Programme Mid day meals
Indira Awas Yojana |
National Old Age Pension

MGNREGA

(b) Human Development Scheme
(c) Social Assistance Scheme
(d) Minimum Need Scheme
' @ @® © @
w@: 1 3

2

@ 2 3 4 1
| 2

1

L

© 3 4 1
M 4 3 2
(E) Answer not known

 Gemeu(md <9|L_|_mas)amufﬂa) Qa;lt@a;&;uut.@ @gSIuS@asmm Lweu®sH  sflwrer

e ufenen it euenan-1 2 L <l Laemart-11-g QurBE8s.

a{L.l_aJmasvr_-I | . =i Leuananr-11
‘(a) agew @PIlLs S L b 1. wdw o awey
(b) mé;ascthLbunl;@gglﬁ_;Lb 2. Qudrr yeurev Guirge
_V' (c) Fops 2 Folld S L1b 3. | Csflw pHCwimt Guemagen
(@) swiumsCsoass o 4. MGNREGA
@ ® © O
@ 4 1 3 2
®2 3 4 1
. © 38 4 1 2z
M 4 3 2 1
(E) aﬁlmL_Gg,rﬂu_laS]a)mm
e o B 45 | | CEGS/2022
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137. Match the following :

(a) Sovereignty 1.
B (b) Social_ism | | 2.
(©) Secularism L 3.
(d) Demoeracy ' | 4.

@ O © @

- : 1 3 2
(B 2 1 4 3
© 3 2 1 4
D 1 ‘2 3 4
(E) Answer not known

Qun‘@ggesz |
’(a) Qenwreamento 1.

(b) Qurgy pwé;@&rri.urr@ 2.
() wsssmiupn 3.

(d) égmprru.wub _ 4.

@ ® © @
@A) 4 1 3
B 2 1 4
© 3 2 1
M) 1 2 . 3
(E) aflent QsMweldrena

L S SV I

CEGS/2022

Promoting social change to end all forms
of inequalities -

Government of the people, by the people
and for the people

Freedom to profess preach and practice
any religion

Complete pohtlcal freedom and supreme

" authority

eroar aflg Coupmieweaiiujb §&iEs s
LOTDDES &(HeuTEGHe

 LDEEHETTE), LD&ESH(EHSSTS, aHETTEGe) QFwiuyb

TN

d(r_'r;g, wgsm GeuamBoranraid Werubm,
LODETHD &5HSTLD | |
pHHeyb émﬂu_lei) &SHETD LOHMID e SidsTrn

% o



138. Assertion (A) : The Socio economic growth strategy should aim at a .

51gn1ﬁcant redlstrlbutlon of income and consumptlon

"Reason (R) . A substantial reduction in poverty is possible only

through production relations which help redistribution
of income in favour of the poorer sections of the

popu,latlon

W Both (A) and (R).are true but (R) is not a correct explanatlon of (A)

(B)

©)

D)
(E)

(A) is true but (R) is false
(A) is false but (R) is true |
Both (A) and (R) are true and (R) is the correct explanatlon of (A)

Answer not known

audynsse (A) : &@a; Qumperrgmy cuariEdés QaraTenswneng euheumil-Eisiey

woUREE Csiieums wadw Cpréswrs Aarerg (hés Ceam@n.

STFERTLD (R) 2 pugdure L GG SEHFOTET QUMD G@DLIL FTSSWLOTGLD.

(A

®)

©)
)

(B)

<5 geop \fley DESEFEE STSHLNEG e  wpusliey
Q&u’.ﬁu &gmm; o
(A) wpmiw (R) @rew@d g_as'urm‘u), < amme (R) eramug (A)-eflgyerLwi sfwurer
eNaT&ELDO® | ' |
(A) eremug) o awenLo cg_bafrrre'v R) eremug seum
(A) eremugy g,eugu g ame (R) eramuig) 2 amenio

(A) LHmID [®R) @rysm@m 2 GTELD, Lo;pgjm (R) eramugl (A)- aﬁlg)@ sflwires

ler&sTEGLWD

eflen Qg flwelerene

47 o CEGS/2022
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139. If Manohar pays an interest of T 750 for 2 years on a sum of z 4,500.

Find the rate of interest.

(A) 8%

\(Bf’s-;: %
(©) sg%
® s %

(E) Answer not known

wGenmai eremueuir T 4,500- a;@ z 750 eSgb 2 m@l__rma;@a;@ euLllg Q&ng,gﬂeﬂmrrrr

erafled jeur Q&gug,é.]u.: QJL.Lq. aigb Greurem?
A 8%

(B) 8%%
© 82%

o
@) 8 %

(E) aﬁlml_Qg,lﬂuJaﬁld)ma) :

CEGS/2022 . 48 | o}



140. Find x so that x+ 6,x+12 and x +15 are consecutive terms of a

Geometic progression.

(A) -78
f? s
©) -12
D) -6

(E) Answer not known N
x+6,x+12 wpmd x+15 eaewa @m QuBsEEs Qsmi aflomsuer

"QsrLiEwren ppeny 2 HIUILEET eraflé X-ar Hlieus STeTs.

A -78
B) -18
© -12
D) -6

- (E) ol Ggflweidena

(A 16
B) 19
O 14
P 15

(E) Answer not known -

(A) 16
B 19
C) 14
D) 15
- (BE) ole Qzflueférera

o | 49 | CEGS/2022
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142. Raman’s age is three times the sum of the ages of his two sons. After
5 years his age will be twice the sum of the ‘ages of his two sons. Then

‘the present age of Raman is what?

..gﬂw

(B) 55
- (©) 65
@) 70

(E) AnsWer not known

- @imoafen gl é{@J@GZDI_UJ 2w LDBS@T&SUQDI_UJ auwigisaetlen &@gmwu@unw @0617@1 ‘
LD|_rBJasrr@Lo BT HET HfEE Seuflar ang seng Loasma;@am_u_l QJUJ@]BSGIﬂGbT

sa(hsemels Gumre @) LDLJBJ&B[T@LD erafled @mioasfle g,gp(%’urrmg,u.; eUWIG) Grafrasr?

| A) 45
®) 55
©) 65
D) 70

(B) &Neor Qsfliweideme

CEGS/2022 - 50 - 0



143.
4,5,9,18 34, —

Fill in the blanks.

e 59

144.

(B) 50
(C) 49
D) 43

| (E) Answer not known

GCsmgl L QL sems Hruys.
4,5,9,18,34, ———
A 59
(B) 50
(© 49

(D) 43
(E) e Qgflweiéena

Pick out the odd one.
CFD, GJH, VYM, JMK
A) CFD

(B) GJH

~) VIM

(D) JMK

(E) . Answer Iiot known
QapPlé QUIBSSLHDS T851?

CFD, GJH, VYM, JMK

@A) CFD

B GJH -

€ VM

©® JMK
(E)  &lenr Qsfiwaiicrene

51
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145. Find the difference between simple interest and compound interest for a
sum of = 8,000 lent at 10% p.a. in 2 years

, m t 80

B) =90
© =70

- (D) =100 |
(E) Answer not known .
t 8,000-5@ 10% el g aSsid crafléd @u‘am@ c%Gwr@é.;;«'ﬂ"ﬂ61) i@ st () @Jl_Lq_a;@Lo
el auL_ig S@GLd 2_aTer Qﬁ]g,g‘,]u_lrr&g,mg,a; ST :
(A) =80
B) 90

- (©) =70
(D) =100 |
(E) ofenL Qsflweflcrena

146. The value of a machine depremate by 5% each year. A man pays z 30,000
for the machine. Find its value after three years..

uA 25,721
- (B) 25,722
(©) =27,521
D) 22,752 |
(E) Answer not known , | |
80 Quidrsfar wILY galans BB 5% Gopdps. el G
aurm@ausng I 30,000 Qsr@ssi. epemm a;bam@&@a;@u lfﬂgp@ @gm wHLIL| eTeman?
(A) 25,721
(B) 25,722
(C©) 27,521
(D) <22,752
(B) ,‘aﬂmg@grﬂuéﬁ]@émw.

'CEGS/2022 | | 52 | - | e



147 A farmer has enough food for 144 ducks for 28 days If he sells 32 ducks
how long will the food last?

(A) 84

vtg 36

- (©) 72 .

D) 68
(E) Answer not known -
@ elleusmuiludb 144 eurr&_,gas@és@ 28 prisEpsE Caealurar o ame o 6meng).
et 32 eunggissemer allpmelllLmi erefled jeufl b 2 erer &GISDTGM BgpeTer Grg,g,mm ,
BT &(@hE @ Gungjwrrmgrra; BmEEWL?
A) 84 -
B) 36 ©
© 72
D) 68
(E) oflerr Ozflwelcrena

148. Find the value of x from the following equal ratio’s
11:x::6:66 | |
(A 6
B) 11
P 11°
. D 6’
; (E) Answer not knowh _
11:x::6:66 erem 695 sLSH X -br Log‘):;:q SIS,
A4 6 -
B 11
(©) 117
D) 62 |
(B). oo Qgfuaiima

o3 o 53 , | ' ‘CEGS/2022
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149. Find fhe HCF of x® —x2 +x -1 and x4 ~1.

@) 2+ -1)
® @ -D+D)
©€) (=*+ D(x - 1)2

uﬂ (x + D(x - 1)
(E) Answer not known

ot —x?rx-1 Logpguu:x —1 @@Jm@mdﬂ@uwm STGHTE.
@A) (x® +1(x%-1) |
B) (x*-1)(x+1)
© @ +Dx-1*

O G +Dx-1)
E) o Asfucions

~ 150. H.C.F of 513 and 1134 is
@ 9 |
(B 81
) 27
D) 31
(E) Answer not known |
513 wHyb 1134-ér BrQum Qurgé a;rn;rasvﬂemwa; ST
A 9 | |
(B) 81
(© 1
D) 31
E) o Gpfuciame

CEGS/2022 R 54



- 151. Which of the following material is used to make control rods in a nuclear

- reactor? . | |
@A kSOdium‘ | J Cadmiug
 (C) Potassium . O Tron -

(E) Answer not known |
@@rm@ﬁa sefomiseafled, @M eSS ;'>_ 66>qu]6’1> SLOUUTLHS Sear(Hser
Q&ﬁmuu’mdsru(a@gjdg? | SR ‘ .

(A) 'VC‘.éarqu_u_jL-bh o : (B) 3 (W [T

(©) QUi Ll | D) @mwy

(E) aﬂm;leﬂmaﬁl@mw R

152. Land and Sea,bre‘ezes and'trade winds are formed due td
D Convection : | | |

'(B) Heat conduction

(C) Heat radiation |

D) Scattéring |

(E) Anéwer not known |

Hlew LD[leLb S a;frgbgg mgbgmlaﬁlu_lrrurru STHM) @g,mrra) %mrréslgpg il
| A) QG)JL.'JI__]#EG\)GBTLB | g S

B) ‘Qa;u.]ués b

(C) Qaiu sdielss -

(D) &spé
- (E) e Qsflwelerena

o 55 R . CEGS/2022
: ; ; . [Turn over



153. “The future of manufacturing” — 3D printing is prefered than traditional

manufacturing is due to which of the following reasons?

(A) Cost reduction |

(B) - Quality and Faster marketing

(C) Low wastage .

: ' All the above

(E) Answer not known

arglirsme 2 pusd Qeligead @pl.‘_'julﬂmrrsm DIFH (PD LOTLY érrr'r(rijg, &gbugﬁsﬁué
a;rrl'_mr@JLbaSl@Lbuuu®a§]ﬁjgjcr§mrreb? N |

(A) aﬂmw ‘@mgpm . ’ o _ , o o
| B) s Hmid eflerreurer edhLicman S |

©) eopss sfes

(D) @mm ETEOELD '.

(E) oo Gsfluaidma

154. The maximum life span Of the queén .hbneybee‘is ﬁpto

(A) 24' years ) (B) 21 years |
(C) 15 years \M 5 years

(E) Answer not known L

QrreanflsCaet uﬂm 2SS uTpays ST

@ ams B 2lacwd
© Bass (D) 5apLb
(E) ofleni @g,rﬂmmeb@w .
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155. Which tribal group is not included in Tribes of India?

(A) Dravidian Tribe -

- (B) Mongoloid Tribe

(O) Turko _ Iranian Tribe

< Austoloid Tribe
(E) Answer not known
@mﬁwmﬂw Lt safd ———— B0 abs Ligri@is. QL bOLDTS.
(A)  Syrallguicr LGy
B) wiseni® Lpkes
(C) OG- @rrafluer LGy
D) @HCLTOMIE UPhEGS
(E) ofer Qsflwefcrened

156. The main objective of second Green Revolution
‘(A)- To raise the agricultural productivity to promote food security
(B) To promote substainable agriculture ,
(C)  Toincrease the per capita income of farmers
All the above '
(E) Answer not known

QrerLreug) usew Ll Suler wpéflw Crrésid

(A) eateyl LngETienL Gmmu@ggmgsma;rra; QS]QJ&H‘UJ a_mugsﬁg, Qgpmasr
 ewipgaig

(B) feewrear elausnusamg CbUDSSHUSHETS

(O ausmisafier safpuir aumborasans é{‘é,]a;rﬂa;a;

D) Cupsmdiu sEardsd

(E) ofen Qsflweldvene

o \ ; 57 . | CEGS/2022
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157. Which of the fol‘lowinvg regions receive minimum rainfall in India?
(A) Western Madhya Pradesh estern Rajasthan
(©) Eastern Madhya Pradesh (D) Orissa ‘
(E) Answer not known .
Qemaumeuaeuhmidr @bHuireler Gmpbs are| wepUGumlelamer ngjm YrCseb

eTgI?
(A) CGuwie mggmu@g@gm - (B C’o’mrj)@ Gyrepevgmen

(O) dysE wsHuinrCsew D) efar
(E) e Qasflweiicvena |

- 158. The first International Women’s Day got celebrated on March 19% in
- which year? | |

- 1911 (B 1913

- (C) 1916 . (D) 1921
(E) Answer not known |
sirauGss waeflit Hand 19-yib Csd WLTTE WLIFD PSW® (l,omg)u_lrras 6ThS @U(HLLD

Qa;rramTurL_uul_Lg,j? _
o (A‘) 1911 (B) 1913
(C) 1916 | - (D) 1921

(E) e Qsfuiciicrana

159. ‘Flying Sikh’ popularly called as famous sports man 18
"~ (A) Manoj Singh M/Iilkha Singh
© Mithra Singh (D) Madhan Singh
(E) Answer not known
‘Lp&EWD &’ eremm QLTS aﬂmuu@w L&PEUDHD aﬁlmmu_lrn_(g eﬁmr
(A)  wGarrg A : 0 (B) Nevam S
(C) g i D) wser A
(E) elerr Qgflwiefédvena |

CEGS/2022 . 58 - o}



- 160. ‘The name Telangana refers to the word

\M Trilinga Desa

(C)
D)
(B)

- ‘Qaaiiaren erenp QU 6ThS euTTH@s®IL GHSHDE)

A)
(B)

©

D)
(E)

Telugu Desa
Tribe Desa
Thiribura Desa

Answer not known

Sifldmism CHan
Qs Caaid
Loeﬁieo Gg;&ﬁj :
Qrﬂqvl;rrr Gs&d

afenL Qg_’slﬂ‘uaﬂd)mw

161. Current Telungana state Governor is

- d Tamilisai Soundararajan

®
©

D)
(E)

Tamilselvi
Soundararaj an
Kannaiah

Answer not known

snGuresw! Qg,gméw;rreoirr Lorrﬁ]co a;eur'retrr_'r wimir?

(A)
(B)
©)
(D)

(E)

gL flens QaarbsiyTeye |

g,l_&@ AFT

QFahg Tyregen v R
& GUOT QT LWL IT
e Qsfweldens

59
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162. In which sites of the Indus Valley had no citadel?
ﬁ Chanhudaro | -
(B) vLothal ‘
B (®)) Kalibangan .
(D) : Rangpur .
(E) | ’Answer not known
CamlienL @a)a)rrg, &@Cr @pg&w@maﬂ BSITLD 6T ?
(A) &ﬂ'@ﬂ@gl’l’@l}'ﬂ'
(B) Garssed
©) aelunisen
D) ghgi |
(E) - efem Qg,rﬂu_loﬂéz‘apa) ’

163. Name the Sultan.of Delhi Sultanate at the time of Timur invasion
" (A) Daulat Khan Lodi : E
(B Ghiyasuddin Tughlaq
| (C) . Firoz Shah Tughlaq
M Nasiruddin Mohammad Shah Tughlaq
(E) Answer not known '
SepiT uem_Qu_l@ulﬁlsvr Gungl 1g.coedl em)g,rrasﬂw a;a)g,rrmrra; @@Eg,mrr Quuwir?
(A) Qgetag srer Gamy |
(B) - unslen gigens
o (C) QuGpmen aq,rrgjé;mé; .
(D) paSwSen e ayr gibars
(E) e Qg,rﬂu.uaﬁ]d)méo |

‘CEGS/2022 | 60



164. Among the followmg, _What way the great achlevement of Shlvaj1‘7 ’:

(A) He was the father of the Marathen nation

B (B) Defeated the Mughal forces

(C) Hewasa besurobent ruler :
W Checked expansion of Mughal emplre in the South India
(E) Answer not known | ,
SipsaeRr_cupieT !ﬂeufréldﬁ]a’sr uS]asL'IQi_nﬂuJ FTHEDEN 6TH)? |

| (A) wrrsHu Guwaﬂm g_,;rgangs

- 165.

(B) Gmlrasa)rru_lu LW Gg,srmasq_gg,rrrr

© L&&&&lp;bg, < Awirarit | P

D) G\Lorra;a)rru_lu Guyrdlen aﬁhﬂmrra;asﬁmm Ggm@p@mmﬂm Gg,rrmg) Q&u_lg,rrrr
B sﬁlam_ Ggrﬂu.nafﬂa)ma)

- of my childrens, they are none other than my Turkic slaves. They are the

rulers of my conquered provinces. The will certainly reverberate my
name durlng Kutba’s”. Who said the above statement" |

(A) Baha ud-Din Gurshasp :
B Mahmud of Ghazani

) shihabu-d-Din Mubammad

(D) Qutbu -d-Din Aybak
(E) Answer not known

HD aq&was@a(g R Gerener aqcucog] @uam@ @ma»ma;cﬂ @@asasmrrm ranECET
uoardiyssamssan Gereensar @mefenpenit. DSTUF!, SIQTSETSILD Grasr@am_ui
- SImEAL - g LDEET,; SlUFSETSMTD  ereTg@IeL W <A u@ﬁa;@&@ eurfl&sar;

auugﬁsaﬂa} eroend erar Guweny @gur (Khutba) eifuireiaremd urrgjasrruurr

C erémp ainsAwges Sadluig) wmi?

(A)  ugprapuisBen GiayL:

(B) sgafden waineps

(C) ofanmpen cpapdws

D) esusdagaus

(E) ol Qgfwcldane

RS e  CEGS2022
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' 166. To whom does the Election Commission submit.its annual report?

A)
®
©

®

NGY
(B)

©

D)
(B)

Lok Sabha
Rajya Sabha

Parliament of India

President of India

Answer not known

LD&SET SNl

- mnﬁ]mr&a;cﬁ FenL

@BHw urrgtr@meirr;mb

B @aurss sooai
dlleL Gz flwefdana

- Gsiiged <y enanmuild Seurg) m@nn‘ﬁjﬁﬁ SAflsamsmu WrmES soMaés CSQJ@'W@Lb?

167 Electlons to the local government bodles are made mandatory by which

amendment"
(A) 72nd Amendment _
o 73 Amendment
- (C) 64t Amendment
(D) 63 Amendment
(E) Answer not known

. 2-eTenT_ 81§ Hlenp SirEmhISSHD Gg,rrg,su &L ereTy ang‘)] wr &Lng,ﬁ@g,g,m

@
B)

©)
D)
(E)

 CEGS/2022

-

72-cug) s L 5H S5O
13-eug) s L8 HSs1D

b4-aug s gHmESID
63-cugl L sAmpsid
- eflenL_ QsRwefdenay

62



| 168. Which among the ffo’llowing' is/are the utﬂity of birective Priﬁciples of
 StatePolis? T R T
" 1. Rigid Constitution
9. Appoiptmeht of GOverndr
3. ;Intégrate.d Judiciary

_6”.1-, 2 /
© 2,3

D) Al the above

(E) AriSwer not known

s G Gp@@mgbés"casm'_urr(aa;aﬁeh Lwdnn @ £g9§;a;rrmn;|u®\uma_lasaﬂsbd
s S A > ptaneid
1 '@Eﬁgw‘.mmmuu_‘

‘2.. : a;eufrmﬁ ﬂ‘ﬁJltb'@ILb -

3. @@rﬂé@mwﬁﬁé@mm

A 1,3 o
® 1z e

© 23 o o
© Copomu et
(B o Gpfudone

o o 63 . CEGS/2022
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169. Multidimensional Poverty Index includes the indicators except,

- (A)

Education

m Market

©
(D)
(E)

' Health .
Living Conditions

Answer not known

uevL_JrﬂLDrrawr aumiento GHuIB Spe_arer @HsTL g Heflad craudenn 2 arerL sseldama?

(&)
(B

©

D)
(E)

a;sbaS]

FHeng
&ésrrg,rrmb
mwgpé;d)as Hlenay

eflenL Qgflwelerene

170. What do you mean by missing women?

A)

(B)

Quantifying Excess female fertility

Quantifying Excess female obscandlng from the crime

\(0 Quantlfylng Excess female mortality

D)
- (E)

Quantifying Excess female 1111teracy

Answer not known

Glg,rrsmmpg; CSurrarr Querger” — GTEmLIg?’

L(A)
(B)

©

D)
(E)

CEGS/2022

DiFlsLig wire QumT@%Q‘_ﬁ,mg,asdT a;@@.@@@@@j@T@S]@gd) o

@Lg‘,]a;i_ug_u_lrrm Quansdr gopphisalambg sinAums ierelLé
a@‘)\a;ulq.u_lrredr GuaibTédT @l lflgsms searelld .
SifsLgwirer QuerT@pheangaaficr uq_ulﬁlstremmuﬁlenér Sjemail_ed

eflenL Qgiflwelevrene
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171. Tax Revenue are
1. Taxes On income and expenditdre
2. Taxes on property |
3. Taxes on Cbmndodities
4. Interest recéipts ah_d dividends.

- Select the correct answer using the code given

A 1,2and4
\M 1,2 and 3
(C) 8,4and2

(D) Above all

(E) Answér not »known

aufl aupLoranhisafle) iLhiGeuer
1. eu@meumd, G‘I&mmseﬁ g Curiu®i auf
2"'. Qarggéser g Cur_iu@mb eufl
. 3. Qurr@ciuseh Bgl Gunl_ﬁlu(a@ aufl
4.  uREGSET HYID @dl’.iq.&;@ﬂ&f 1&g
QsrRssLILCL Gl EET NG TES ’&r‘ﬂu_l Ter dmpend CoTbAS0.
@A) 1,20pprd o
(B) 1, 2 wpmid 3
© 3, 4wppi2
(D) CuwlCa Q_dTQT’é.lQDGﬂ‘&:Sng |
(E) o9eni Qg,rﬂu.:sﬁlei)mm
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172 Name the great Indlan leader 1 is known as Blsmarck of India” for hls
~services to India | « . ,

@
®)

D)
(E)

Gandhl
Nehru

w Sardar Patel

Rajendra Prasad

‘Answer not knoWn

@g,é\u.uraﬁ]m I_CI]GIULDH'ITGS Grsurgj @;mgga;a;uut_L_ é]mggg; @(r_r;é]u_l gmeueurr

@A)

B)

(©)
)
(B

sThd
€76

FrgT UG

@rrGgpsly Grens

aflen_ Qgflwafioame

'173. Batukesh_war Datf“ and - 'thr_ew bomb in the Central
"~ Assembly on 8t April 1929. | | "

@)

| (B)

,(D)
(E)

~ Ram Prasad

Roshan Lal
Bhagat Smgh
Raj Guru '

Answer not known

uﬁ.@i@a;cfoa_uyi && LOHMILD —————-—-—- wsHw L genu Goe 8 é)‘l.'ﬂ;@b 19293{6&_@1 GRT(H
T BSTTEHET. ' ‘

@
®
- ©

D)

(B

CEGS/2022

prolrers
Grragen e
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174. In Saunders Murdér case were executed in the Lahore

Jail on 23 March 1931.

1. | Ram Prasad Bismil and Lal Lajpat Rai
2.  Bhagat Singh and Raj Guru

3. Roshan» Lal,fRam Pfasad, Hussainiwala
4.

Bhagat Sihgh, Raj Guru and Sukh dev

(A) 1.only
B) 1land3
(C) 2and3

' w2 andy4only :

(E) Answer not known

sreaTLiev LREsTE® aupsdle, 23 wriF 1931 arami Hapuller grafleadl Ll L euirser

1. gmblrerg Gevdle HID a)‘rra)rr’a)gugurru'_u

2. Lapdi wHDID TRED
3. Gpregen corre'ﬁ, Frb9rsrs, apcagaieumer
4. uss QréJ, 7T G Lo;_i)gjLB 55C56
(A 1wi@on
(B) 1 wppp3
(C) 2 '-Dﬂ')g)llbé | .

D) 2 LDﬁ)QJLb 4 Lot.@Lb

(E) e Gsflwelicoana

o' . - 67 | | CEGS/2022
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175. The smallest number which 1is exactly divisible by all the numbers from

1t09
(A) 1260. .
o 2520
- (©) 5040
(D) 9006
(E) Answer not krllown' |
1 Qemibs 9 eyl SIS qabramﬁgm m@ﬁnu@u.b OsEABlw 6T
(A) 1260
(B) 2520-
| V(C) 5040
(D) 9000
(E) sﬁlml_Qg,iﬁuJaﬁld)mw
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176. The headqliarters of Maruthu Pandiyar
(A) Arantahgi
(B) Okkur
(C) Paramakudi
w ‘Siruvayal
(E) AnéWer not known
DG LITig Wesller enaantoudiL b 6rg?
(A eppsmad
B) gémi
© uwes | R
(D) eﬂgu@_lrru_léb ' |
(E) “QS]GU)I_QQI‘HUJQ‘QQ')GU)GJ

177. The Military General, who suppré_ssed the VellOre’kMutiny”Walls ‘
(A) George Carmichael Smyth | |
w1 Rollo Gillespie
(C)  John Nicholson
(D) - William Hodson
(E) Answer not. knoWn o
Caugri swssms SI_HLUI._[DEE@er Q&tréiuf@ mpg @rreiey g,d'ru@ wimir?
(A)  ggritgg arillQead eoifls '
B) CprGar Hlévavevil
(C) gren flasaser
(D) AreSlwid QDL e
(E) e Qsflueldeme

o - 69 ) CEGS/2022
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178. Match the authors with their short stories

Author
(a) Jayakanthan
(b) Mouni
(¢) Pudimaipithan .

d Ku Pa. Rajagopalan

@ b © @

@3 2 4 1
®3 2 1 4

2. 3 4 1
™2 38 1 4

(E) Answer not known

0

Short story
Vidiyumaa
Aknipravesham

Azhiyaa Chudar

, Saaba Vimochanam

Hpsms < Hflw FHEET SiauiEeT Ty ApsmzsCarm® AsriubSs!s.

< Aflwir
(a) | Ggu_w;rr‘r_'r)g,ésr
®)  Guaraf
©  upeondsss
@) .U rrgCarureer

@ ® © @

@3 2 4 1
®s3s 2 1 4
© 2 3 4 1
@2 3 1 4

| (E) e Qsfuieidama

CEGS/2022

- T

fpsans
efliguyom

Sisa n9rGaugid

‘&@urr&&l_r'r

gru SGrEaTD
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179. “Paavai Paadiya Vaayaal Koovai .Padliga”?'
- “The mouth which sang paavai will have to sing Kovai”
Whom did God Siva address this to? |

180.

(A)

©)

-Sundarar

Manickavasakar

- Gnanasampanthar

(D) Navukkarasar

(E)

Answer not known

“ureras Limgw curwine Gareney LTHE” erar @emeua (Heuen) WAL LD 2 @FHST?

A

B)
(©)
D)

(E)

What do you mean by “Lyric Poetry”?

@A)
(B)
D)
(E)

‘0fis’ Lim_dser eremm) d@mmsu LML D&emeTé @@Dtﬁ]@eﬂé&r@mwm?

A)

(B)

©)

D)

(E)

spaTi
LoreRllEseunTEsT *

@ TREDLIHSIT
mrrmé;a;rr&r’r -
eflen_ GzMwelidena

Devotional songs

Heroic songs
Emdtionaﬂrohlantic songs
Folklore songs

Answer not known

uSS0 UL s6T

efpuist Lm_dger

ST TTESIL] LITL@&aT .
ngmm@u LT s

e QsfMuefdama

N g 71
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181. (i) He was the first Indian Governor General
(11) He served as th‘e Governor of Bengal
' (iii) He becarﬁe the Chief Minister of Madras P‘residency in 1937
Who is described in the ‘aborve statements? |
_ (A) Kamaraj
m Rajaji
| © " Natesan |
(D) Munuswamy

(E) Answer not known

| (1) D6t WPs0 QbHw sauiert Ggearreors @@ﬁ,gmﬁ
(i) euhsrasden seuiemrs Lafumpiiwei
(iii) Qeereman wraramsHer wowamivssyrs 1937- gyammi
Cuhamflu fFpysser wrenr eleaufsdpg?

" (A) smoymgT

(B) Qrrgred
(C) pGLsan
D) wasmh

(E) e Qsflweiicvenay |
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182 Name the first modern bank in Tamllnadu was started by Br1t1sh in
‘ 1843 " ‘

" (A) Bank of Chettinadu

(B) Arbuthnot & Co
(C) Bank of Madura

#)7 Bank of Madras

(E) Answer not known | .
1843-1b @ 2 rSCawirmed SOLPHTL g0 %ULblﬁlé;a;uuLL W56 peSar oukidl

| (A) Qsluypr® eursdl . | '
B) =yiugsmn. & sbOue
(O wvgrrand

- (D) Quilgrev eurad
(E) e dsfiuaddme

183. Kaka Kalelkar Commission is related to

(A) The National Commission for Scheduled Castes
B The National Scheduled Tribes Commlssmn

gm The Backward Class Commission
(D) The Anglo Indian Commumty
E Answer not known
&T&&T SCOOET QY emanid rgCanm(d Gsmiy &GO')L.U_IQJ?
Q) Ll guear grré]a;a;mﬂ (Sg,eﬂu_l <2 EMERTILILD
(B) v wasErssTar AL By amamLD

(O 9puESsILL G Ggeﬂu_l 2DRTULID

- (D) udCar QbHumssTar el

E) oL Asfuciome

IO - 73 DR CEGS/2022
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 184. Identify the article which promotes educational and economic interests
of Scheduled Castes, Scheduled tribes and other weaker sectlons

m Article 46
-~ (B) Article 15
(C) Article 334
(D) Article 342
(E) Answer not known

QAU Sirfluembltd o drar Ul igwed Frdaedr, Lll_I.q.UJa) upiiGguient wHmb Gp
veeiarnorer 9feysafier swell HYID Qun@mrrg,rru poesEmen 2a&@Gels@n Wfame
DADLWITETLD STETELD _

(A) 9fay46
B) 9fey15
(C) Gfay334
D) Gflay342

(E) ol Qg,rﬂu_laﬂei)meu

185. Whlch ‘among the followmg statements is true with Self Respect

Movement?
(d) Self-Respect Movement is a soc1a1 protest against upper caste
Hindus. :

Self- Respect movement was more 1nterested in social freedom.

(C) Self-Respect movement directed its appeal mainly to land owning
class

D) Self- Respect movement was 1n1t1ated to win political 1ndependence
(E) Answer not known ' ‘
n_cﬂasrm@w snpmissatler &ui- Lmﬂu_urmg, QuisssmsL) LD &rﬂu_urasrg,j eTg)?

(A) sw-ofurms @Quéshd  aLg) 2 Wi &rrg“;l @5555@5@ aTHyrar @

FapaL CSurrr;rn_L_Lo
(B) sw-wvAwures QuEsd &c_Lpa; &g,‘mﬁug,‘é,]m 15Gs 21 lT@LIlT@ Qa;rrmq.@pg,g
(O)  sw-wAures Qussbd QuEpbUrgIb Bawere aitéssdharsGes (papuiliL gl
D) sw-wvAures Arslwue asBSHTSMS ngueuggbesrra; GgwmgaﬂéauuLng
(E) o Qsfuecidema | '

CEGS/2022 7S o



186 Jawaharlal Nehru referred to the following town in Tamilnadu as
| “thtle Japan” because it contrlbutes to 90% of India’s producnon of |

safety matches
| (A) Karur
\4 Sivakasi |
(C) | Kanchipuram
(D) Sivaganga

(E)-‘ “Answer not known

gm@frmrrda Crm sengyen i SODBTLHEF SHMIL uu_lmrg,ﬂm Curg @bdwrefer 90%

SUQuL g I_Iré.l&;GfﬂL'l.lg]GDa_)T Qawseugre “Aiw g'L'JLHTG')T” eremm GO L g
@A) s

(B) &Imsrr{ﬂ

© asrr@eﬂqmb

D) Hesiems

(E) oo Qsfwcldee

o' - % CEGS/2022
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187. Match List I (variable) with List II (méasures) and select the correct
answer using the codes given below the list : ' '

ListT

(a) Rapid growth of income |

(b) Greater inequality in income

distribution

(c) Greater regional imbalance
(d) " High level of aggregate output

and income
@ ® ©
A 2. 4 1
w4 1 2
© 4 1 3
M 2 3 1

(d)

DN W W

(E) Answer not known

1.

o

List II

Gini coefficient

Gross state domestic product'.
per capita - '

GDP
Average annual rates of

~growth of GDP

Gemaupd L L cuanerTude Q&n@&suuﬁ_@ .@ﬁluﬁ@ésmm LweTUBSS sfwrar
e ulemar i _Leuenanr-1 (orhiedl) 2 Ler é{LmemT_fll (SlaTeyse) - QUIHSSIS

SiC_Leuenent 1

() <=fs Ssieray Beml euaTiEs
(b) aumeumis Ldreféd uredefl

urgur®

(c) undller QpmpHw qﬁ)mgg_n@@
(d) <iflssiereyQLrss eumeumis

D 2 HUSH
@ b ©
@2 4 1
B 4 1 2
© 4 1 3
2 3 1
(E) efler Qgflwefdene

CEGS/2022

@
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©

<iU_Lasenerr 11

fafl Gasid

Qurgs wrfle 2 GEM_H s@T 2-HusSH

Qurés 2 aEr (G e Husd
Quomgs 2 drprC_@ 2-pLsHulen

aumLTHST auariad alisid



188.

"
Find. the compound 1nterest on % 20 000 at 15% per annum for 2 years.

| Aﬂz777250

189.

© 7,772

| The ratio of H.C.F and L.C.M. of the numbers 18 and,30 _is\ o

(B) 6,772.50

D) =2,777. 50

) (E) Answer not known

'.f 20,000- as@ 15% @cbmr(a Qg Qﬁggﬁm@ 2 %W@&@&@& &LL@QJqu.QDU_IGS |

BSII'GMTE

(A) =7,772.50

‘(B) 6,772.50

(C) =17,772
D) =2,771.50

(E) oo GpRuciame

-

(A) 3:5
(B) 15 1

(E) Answer not known

18 pmid 30 cgbélu_n Grmrra;aﬂssrLB Qu & Logpgul.o LB 8. .o-efle Qﬁ]éﬂg,m

() 3:5

B) 15:1

©) 1:15

D) 5:3
(E) ' eflanL Qg,rﬂmaﬁi@@m

77 ' CEGSI2022
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190. BANGALORE is i'epresented as 123426789, how RANGE is represented?
(A) 82934 - | | | |
(B) - 82439

) 82349
(D) 82943
(E) Answer not known
BANGALORE Grasrumg, 123426789 Greo'rg erpHanme, RANGE TETLINS GT(PSILD
(Cagly :
(A) 82934

. (B) 82439
(C) 82349
(D) 82943 -

. (E) o&flen_ ngﬂusﬂo’)mw

191. BOOK 43 and PEN = 35 therefore COPY ?
| (A) 48

B) 60
v 59

@) 79 ,\

(E) Answer not known

BOOK = 43 wpmi> PEN = 35 erafléo COPY = ?

A) 48 o

(B) 60

(C) 59

®) 79 . |
(E) aﬂmL.Qg,'rﬂu_taﬁl@mm
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192.

‘Find the value of x. -

Y

- (B)

30

20

w0

©) 54

(E) Answer not khbwn

. v
X-et HLIL STeTs.

@
®
©
@)

E)

30
20
50

54

v Gg,‘rﬂu_uaﬁlébmm '

312
9 |10
1271 x
132
9 |10
27| x
79
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193. The dimension of a fish tank is4msx2m x 3m. How many htres of water
- iscan hold?

24,0..00 Iitre
- (B) 2,400 litre
(C) 240 litre
D) 24 litre
(E) Answer not known

@R Ser Qggrrl_Lq_u_lrr@'rgj 48 x 28 x 3 8 Grezmp ammasmm 2 L Wg). @‘r_r;g,g,v
- Qsrlgureng cTéga@en aSll_l_ng,awraszs‘Frr Gla;rrm@m’P ' |

(A) 24,000 L
(B) 2,400 &l Lt
©) 2408 i
D) 24 Wi ,
(E) efer Qs fweldena

' ,194~ Area of a square is equal to the area of a circle. If the radius of the circle
18 14 cm. What is the approx1mate length of a square"

@) 30cm
- (E) Answer not known |
. sgirsHen LpLiLeTe b el L gHar LFliueTab Fob. eul L Sl c*g:,n)‘l.o 14 Qs.i5. GTGOﬂGl)v
_ &gug,g‘,lm ua;asg,gﬁlszsr Gg,rnfrru_l SleTey WITE)? '

(A) 20 @& )

B 25 Q. L8

(C) 15Qs.8

(D) 30 Q.18

(E) oflerr GsMueldeme.
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195 Ram deposited z 15, 000 as flxed deposit. If the bank gives 4% as simple
interest after 73 days how much total amount he will get?

(A) z16,000
- (B) 15,000
: \M £ 15,120
-~ (D) =15,100
(E) Answer not known
grbd G aperer T 15 OOO—g ﬁlygbg,u meuliL& a;am&sa‘:]eu @3505’@ Qaiflmmir. SUHS
cumifl 4% safleuliq Qa;rr@gg,rreu 73 ‘r_r,rn_a;m SPEE AUBES a‘:lsm_a;@m errg,g, Qg,mnas
'qurgj? : :
(A 16,000
(B) 15,000
. (©) 15,120 -
(D) =15,100 |
(E) eleL. Gpfiweidme

196. By selhng a flower. pot for = 528, a woman gains 20%. At what price
' should she sell it to galn 25%? ,

A = 500

w 7 550
(C) 553

(D) 573 |
(E) Answer not known
LFe g Qeten T 528- -5& aﬁ]mgu @@ Quanr 20% @Gorruu) ngja‘,]mrrrr 25% @emub
Qup Sleu g eranen ellanas@ s GeuamBid? .
(A) =500 '
(B) =550
(C) 2553

~(D) =573 \
(E) oL Gsfucidme

o . - s SR ~ CEGS/2022
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197. What is 25% of 30% of 400?
- -(A) 20
C ﬂ 30 |
S (©) 40
® 50
‘,(E) Answer not kann.
400-6ir 30% wdlcn9er 25% orée?
@ 2 |
B) 30
(O 40
@ 50
E) o Osfudidms

198. If x% of 600 is 450 the‘n,kﬁnd the value of x.
@ 60 B 48

MOV D) s
(E) Answer not known |
600-@@1 x% ’Grdsru;gu 450 crafléd, x-@én AlianLid STawTs.
A) . 60 - . ® 48
© 15 S @9
®) o Gsfudone |

CEGS/2022 | sz



199. If 7 : 5 is in proportion to x : 25 then xis .
(A) 35 |
BY 35

(C) 53
D) 5.3
(E) Answer not known ,
- T:5 oang) x : 25-Qé@ a9flg gD Graﬂa) x-ér Sy
(.A) 3.5
B 35

(O 53

‘D) 5.3
(E) e Qzsfweldens

200. Find the LGM of the following
- 8x%y?,;48x%y* |
@A) 8x4 2

(E) Answer not known -

- GereumeuareupPHe B.@ur.wb. Srewrs -
8x4y2,'48x2y4 ' '
Q) 8x*y?

(B) 48x%y*
© 48x*y*
D) 8
(E) aﬁ)mt.GgrﬂuJaﬁ]d)@m
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